15

3
1200
80

2004

1000 1
1m/s
500Hz 16.382

20
5m/s~13m/s

3-1
0.5

1 2 3
oo o -
o,
18 © 04—
17 0 05 —
16 @ 06 — Q
15 ¢ 07 —
N 14 ¢ 08 ol
an 13 @ 9 —
© —o—o o
o~ 12 11 10
- wi 45 g 45 T,o
o 15
- — - — - — -
,. 0o o0 0 o
A
>
>
0
T
[ap)]
0

o



3-2
0= 15°<
3 4
5
6
S, - f.D
Vo D %
3 9m/s~13m/s
5
0= (9m/s
4 6 0=
3-3
7
1
Oo
7Tm/s~8m/s 9m/s
3-4
1
Newmark 3
R.M.S
R.M.S 8
0= 0=
9m/s
0= R.M.S
R.M.S
10m/s 13m/s

5m/s

m/s
om/s
- 11m/s
JR— 13m/s |

10°

5m/s

m/s
9m/s
11m/s
13m/s

0.16
0.14

0.12

0.1

0.08
0.06 [

0.04

0.02

OO

15=
30<
45<=
60=

8 10 12
(m/sec)

14

90
80
70
~ 60
< 50
40
30
20
10

—a—

OO
15<

8 10 12
(m/sec)

14




w

—e—000-
o 25 | —A—015
o
S
X ——020-
%‘ 2| s
5 15 | =085
—¥— 045- /.
1| —a—0s0- /
—5—055
0.5 ’/0\

0
’ 5 10 5
(V/f,~/BD)
7
' —e—9m/sec( )
—a—10m/sec( )
—s—11m/sec( )
=08 —e—12m/sec( )
E | —x—13m/sec( )
" —o—9m/sec( )
A —a—10m/sec( )
20.6 p —8—11m/sec( )
'3 \ —o—12m/sec( )
o —x—13m/sec( )
||\

° R.M.S
4-1
A
B C D i
9
34 38 27 30
500 9
80 100
90 90°
5o
11
900
T 320 400 l
T R —

%

\

NN
DI

N\

|
Z
A‘
é//
o
-
Nt
.
o
g

gQRQa Q28R A

(O o

11
1
Hz
) (9 (Hz)
A 0.32 2.44 Y
B 0.34 3.64 36.5
C 0.28 1.29 18
D 0.34 2.31 53.5




4-2
D
4-3
A B
4-4
12
1
45<
R.M.S

12 C 30<
Oo
Im
13
R.M.S
14
CD
D 0=
14 D 60<,
9m/s R.M.S
15
AB
OO
R.M.S
R.M.S
C D
AB

10t 10t ——
100 oo 10° foces
107 107 b
1072 1072 E
1073 107
10 L 107
10t 10° 100 102 10° 10t 100 100 102 10°
Ha) _ (Hz)
C 30 D o=
12 v )
100 -0
£ —a—15°
7 80 4T
S ——60°
X
~ 60
2]
=
o 40 //.
) %‘/z
0 . L . .
0 3 6 9 12 15
(m/sec)
13 A RMS ( )
—e—0°
100 5o
E —=—45°
° 80 ——60°
S ——-15°
X _AE©
L 0 o457
* —o— =60
=
o 40
20 A\ ﬁ/,%
0 : ;
0 3 6 9 12 15
(m/sec)
14 D R.M.S
10" —— 10" =——
10° . 10°
§ L
W07 / “”/\l 107 o,
107k 1072 \
3 - A
1073 W 1073 W
10 L 107
10t 100 100 102 10° 10t 10 10t 102 10°
(Hz) (Hz)
7m/sec . 9m/sec
10" — ‘ 10" — ‘
10} 10°
LF R o § L
107 S g T
107 \I 102 |
10°3 L 10 | «"W*
107 10 L
10t 100 10t 102 10° 100 10 100 102 10°
(Hz) (Hz)
11m/sec 13m/sec
15 D, 45<






